ER20F EMHIRERAE S HTHERE T —4 KR
- M7 | T N (R AT 1) Ty
X R N e R TRTRL [ Wk | Refa | Mt PR
[7o=Frur=0- JeimE | 1 [AmEsEE R g o 4 — (RLtih) - -
BB - KK (ng/m®) it | 2 |[#EAE s nd nd nd 0.25
HiLE A~ — 2 AT 0714 I : 6) K | 3 |KmRE R L 4 — (LT nd nd nd 0.25
R~ — 2 AT 0/42(KHI%5E : 18) BRI | 4 |HiERmEERpEE Y L 2 — (BTERT) nd nd nd 0.14
W HGER ¢ nd TR | 5 B —gEsERRER R - N 0.77
R R AGPE ¢ 0.11~0.77 )R] 6 |[FEIRERER S v ¥ — (CFE&T) nd nd nd 0.17
e FRRAE : 0.32 IR | 7 a2 — (&Rih) nd nd nd 0.26
BRI FRRAE : 0.33 EwrE | 8 |EBEBEHRANIET (K5 T) - - | - -
ek |9 | ER R REBIEEAF T (R T) - - |- -
gt 10 | TREEKCERARE (4 fRT) - A
SEIR | 11 | S ER RSB (U B i) N - 0.42
FEOE | 12 SRR R (BRE ) nd nd nd 0.13
KBRF | 13 | RBRAFBREE Ak A BERARFZERT (KBR ) nd nd nd 013
SR | 14 | R R BRI e L & — (W) nd nd nd 0.12
hng | 15 [ihnBEsE ety o 2 — (Lnh) nd nd nd 0.11
FNR | 16 |F)IRERARTE () nd nd nd 0.14
wrE | 17 | RmEiiRr RR) nd nd nd 0.13
Jerume | 18 [HesumeE  Ceun) nd nd nd 0.32
P | 19 (B IREREEE v 2 — () nd nd nd 0.13
AEAE | 20 |REARRMEBEEERIERFE T (F ) nd nd nd 0.15

(1ED) -« K

(1F2) TR &, WEENE SN > TR TIRIEAZ S — L7z 2 212X 0 2 2 TOHEFOMERLN LR Sh ik

(#E3) nd : AHH




